UG/CBCS/B.A./Programme/6th Sem./EconomicsDSEECOG22/2021

B.A. Programme 6th Semester Examination, 2021

ECONOMICS

DSE-2

Time Allotted: 2 Hours Full Marks: 40

Thefiguresin the margin indicate full marks.
Candidates are required to give their answersin their own words as far as practicable.
All symbols are of usual significance.

The question paper containstwo groups. Group-A and Group-B
The candidatesarerequired to answer any one from two groups.
Candidates should mention it clearly on the Answer Book.

GROUP-A
BASIC STATISTICS
Answer any two questions from the following 20x2 =40

1. Find the Arithmetic mean and standard deviation from the following data: 20

Weight inkg. | 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 | 66-70
No. of persons | 14 26 40 53 50 37 25
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eG (Ffece | 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 | 66-70
TR 14 26 40 53 50 37 25

2. Draw a Histogram and Freguency polygon from the following data: 20
Class: 0-500 | 500-1000 | 1000-2500 | 2500-3500 | 3500-4500
Frequency: 3 42 288 150 51
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@ 0-500 | 500-1000 | 1000-2500 | 2500-3500 | 3500-4500
AR 3 42 288 150 51
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3. Find median and mode from the following data:

Class: 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency: | 4 8 11 15 11 7 4
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@ 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
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OR

GROUP-B
EMERGING | SSUESIN AREA IN ECONOMICS

Answer any two questions from the following

1 Explain the features, objectives and goals of National Health Policy and MDGs.
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2. What are the economic roles of women in India?
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3. What are the economic impact of Climate change and global warming?
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